MERCRUISER [350 MAG MPI SKI [GEM+]  GM 380%-8 7338 AND LIF) < IMTAKE MaMIFOLD AMD FUEL RaILS b
Serial Mbr B ange: OLOO2600 THRU Ok 310009 [)
18 P
&-ﬂ"" Ref |Clazs|Part Description Qt Comment Footnote
[}
| 2 25 851883 O-RING 16 4
| 3 BE14224 5|INTAKE MAMIFOLD 1
4 27 0747341 GASKET SET 1 24
5 22 860075 PLUG-PIPE 3
A 22 BB026E | VALYE-SCHRADER 1
7 22 B05515|CAP 1
a2 22 BEOZES|FITTIMG-T 1
AT 9 10 203010| SCREW [B/16-18% 1-3/8 IM.] 7
' 10 16 7IBE3|STUD-REAR (5/16X 258 1M |1
11 23 520595 SPACER 1
12 12 20084 '"WASHER 2
13 11 35814 | NUT 1
14 BE1061T |FUEL RAIL 2
15 10 86885 | SCREW (1/4-20) 2
16 16 845019 5TUD 2
17 22 93385 |ELB 0w 2
18 32 261566 | FUEL LIME-FUEL RAIL TO FUEL F|1
19 32 861570/ FUEL LIME-FUEL RAIL TO FUEL F|1
20 8612434 1 | SENSOR-MAP 1
21 861138 | CLIP-MAP SENSOR 1
1 22 10 B23588| SCREW [HB-32 % 1/4 M) 1
- - 27 7RE11498| OWERHALIL GASKET SET 1 COMTEMNTS IMDICATED BY FOOD
2074494 1 |LOMNG ELOCK EMGIMNE - COMTEMTS IMDICATED BY FOOD

A = FUEL LINE FROM FUEL PUMP e




